) dN/dy

NSD

(LN

Ratio to CMS

0.35

0.3

0.25

0.2

0.15

0.1

0.5

900 GeV pp NSD
L L LU L LN N I B BN R
- [yk0S) (NSD, ly| < 2) -
B m CMS _
— —&— Pythia 8.308 default 7]
- Pythia 8.308 tune-A14-CTEQL1 B
— ------ Pythia 8.308 tune-A14-MSTW2008LO —
[ s Pythia 8.308 tune-A14-NNPDF2.3LO —
| ---A-- Pythia 8.308 tune-CUETP8S1 _
I PO T T RO RO (NPT SO AU NN NN AU N SRNPRT SEPU NN SR SRR S AP I
:l T T T T | T T T T | T T T T | T T T T |:

| " 1 1 1 1 | 1 1 1 1 " | " 1 1 " 1 1 | 1 1 1 1 |

0 0.5 1 1.5 2

Rivet 3.1.10, = 3.2M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


